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Section 2.6A Rational Functions

Guidelines for Analyzing graphs of Rational Functions.
1. Simplify fix): FACTOR
2. Find the Holes (if any)
3. Find the Asymptotes

a) vertical
b) horizontal

c) slant, parabolic, etc.
4. Find the Zeros
5. Find the y-intercept

6. Find the domain and range




Determine if the given Rational Function has any holes.

Hole: same factor in the numerator and denominator

(2x) . (3 _
(x2+3x) KLx3)

f(x)=

Determine if the given Rational Function has any holes.
(ax +3S)¥ |)
2X2+7X+35 < ax+5
f(x)= )




How do you find asymptotes?

_____________________

«
[
d|—

1
1
' DONE!
1

DONE!




Asymptotes

vertical asymptotes:

Set the factors of the denominator = 0, then solve for x

horizontal asymptotes: tink of end behavior

Think about large values of x, what line do the answers approach?

Compare the degree & leading coefficient of the numerator and denominator:

a) a<b, y=0

nxa..
f(x)= mxb b) a=b, y=n/m (ratio of leading coefficients)

c) a>b, y=higherdegree polynomial

Graph each equation and answer the following information as it applies.
Y-inf: Led Y=o {dee

Domain R ,X#-2,-1 y= g3X.+1) Q= 3%+
Holes None ()g(fé_ X++F)

. . ] /Obl?’: \?) 2 O - 3)(""(
VA! X=-2,-| ] X=-73
HA: y=0 I |- ¥=0
/ | %m* iso(vt

x-int ('5") O) | )

yint (0,3) . r\ T o4l =4
I ) Ygrom 2




Graph each equation and answer the following information as it applies.

12225 (09s) _ s
Y 152 _ 4y — 5 (FAX+D) X+

Domain ,R, X#-l,5

Holes (5 ) 5/3)

| 0=X35
VA X =-| | X+
HA \/:\ 0=%+5
| X:~5
x-int ('5,0) i
y-int (O,5> B e :_T___ —

Graph each equation and answer the following information as it applies.

(x+1)  (o+D)_ |
(x=3)* (037 9
C

Domain TR)X# ) f(x) —
Holes Npne

VA: X=3 |
HA . \/:O |

x-int (*’.0) I
y-int (0, '/9> _




Graph each equation and answer the following information as it applies.

Domain _ 3x* —12x 3 (%-Y)
YT 22k —3 03N

Holes Npne
VA X=3 -
HA Y:g
x-int - (0,0) (U,o)

y-int (O, O\

Worksheet 2.6 A
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